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Math Test - No Calculator

25 MINUTES, 20 QUESTIONS

Turn to Section 3 of your answer sheet to answer the questions in this section.

DIRECTIONS

For questions 1-15, solve each problem, choose the best answer from the choices
provided, and fill in the corresponding bubble on your answer sheet. For questions 16-20,
solve the problem and enter your answer in the grid on the answer sheet. Please refer to
the directions before question 16 on how to enter your answers in the grid. You may use
any available space in your test booklet for scratch work.

1. The use of a calculator is not permitted.

2. All variables and expressions used represent real numbers unless otherwise indicated.
3. Figures provided in this test are drawn to scale unless otherwise indicated.

4., All figures lie in a plane unless otherwise indicated.

5. Unless otherwise indicated, the domain of a given function f is the set of all real numbers x for
which f(x) is a real number.
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The number of degrees of arc in a circle is 360.
The number of radians of arc in a circle is 27.
The sum of the measures in degrees of the angles of a triangle is 180.
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Juliet rented a car for one day from a company that
charges $80 per day plus $0.15 per mile driven. If she
was charged a total of $98 for the rental and mileage,
for how many miles of driving was Juliet charged?
(Assume there is no tax.)

A) 15
B) 120
C) 533
D) 633

(2x+6) + (x> +2x+1)

Which of the following polynomials is equivalent to
the expression above?

A) x*+5
B) x2+7
C) 4x*+7

D) XX +4x+7

f(x)=2(x-1)+2
For the function f defined above, what is the value

of f(1)?

A) 3
B) 2
C) o
D) -1
Unauthorized copying or reuse of any part of this page is illegal. 35
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Which of the following is an equation of the line in
the xy-plane that has slope 2 and passes through the
point (0, 3) ?

A) y=2x+3
B) y=2x-3
C) y=2(x+3)
D) y=2(x-3)

Jx+4=12

Which of the following is the solution to the
equation above?

A) 8
B) 16
C) 64
D) 140
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If 7(2x - 5) — 2(2x — 5) = 4(x + 5), what is the M
value of x ? D
The formula above relates volume V, mass M, and
A) 1 density D. What is density in terms of volume and
H mass?
15 :
B 5 A) D=—
2 ) %
65 H
R B) D=
6 ) v
v
D) 65 0 p=L
H M
D) D=MV

x4— 8x2+ 16

Which of the following is equivalent to the Ex
expression above? :
For a ride, a taxi driver charges an initial fare of $3.00
2 2
x-2)"(x+2) )
plus $0.40 for each s of a mile driven. If the total

) (

(x2+4)(x+2)(x— 2)
) (x- 2) charge for a ride is $27.00, what is the distance
) (

xX— 4) traveled, in miles?

A) 3
B) 8
C) 12
D) 15

April QAS 4/9/19
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1 2 -
Emvzzmgh 4w +6v+1=0
3 Which of the following values is a solution to the
Torricelli’s law is given by the equation above, where equation above?
m represents the mass, h represents the height, ;
v represents the velocity, and g is a constant. -3+.45
According to the equation from Torricelli’s law, A) 4
which of the following is equivalent to the
velocity, v ? —3+.13
B) ——(———
4
A) 2gh
) 2g 345
®)
4
- 2
B) - ghm 3+ 13
D) —
4
C) J2gh
D) ! h
—m
5 M8
C(t) = 50.25¢ + 228.75
The average cost per square foot, in dollars, of a
3 condominium in City X can be modeled by the
function C defined above, where t is the number of
B years after 2001 and 0 < ¢ < 8. In the function, what
- : does the number 50.25 represent?
X :
4 A) The average cost per square foot, in dollars, of a
: condominium in 2001
A ¢ B) The average cost per square foot, in dollars, of a
Note: Figure not drawn to scale. condominium in 2009
: C) The approximate increase in years for each
In the right triangle above, x = 60. What is the length dollar increase in the average cost per square
o] foot of a condominium
of side AB ? :
D) The approximate increase in the average cost
A) 7 - foot, in dollars, of a condominium f
; per square foot, in dollars, of a condominium for
B) 8 each additional year after 2001
0 9 :
D) It cannot be determined from the information
given.
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What is the sum of the complex numbers 6 + 5i and
8 +3i2 2 (Note:i = V—1)

A) 11+5i
B) 14 -2i

C) 14+8i°
D) 17 + 5i

Which of the following could be the graph of y = XX +2x+272
A) y B) y

) y D) y

April QAS 4/9/19
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DIRECTIONS

For questions 16-20, solve the problem and
enter your answer in the grid, as described

below, on the answer sheet. Write

1. Although not required, it is suggested that

you write your answer in the boxes at the top

of the columns to help you fill in the bubbles

accurately. You will receive credit only if the

bubbles are filled in correctly. Grid in
2. Mark no more than one bubble in any column. result. |

w

No question has a negative answer.

4. Some problems may have more than one
correct answer. In such cases, grid only one
answer.

5. Mixed numbers such as 3% must be gridded

as3.50r7/2.(If |3 1 L}g‘ is entered into the

O®

grid, it will be interpreted as 3 ot 31

2 2

6. Decimal answers: If you obtain a decimal
answer with more digits than the grid can
accommodate, it may be either rounded or
truncated, but it must fill the entire grid.

answer in —>
boxes.

Answer: % Answer: 2.5
71/11|2 2.5
.@ IF‘raction @@
O T OO - bum
[O)0)e) oo °*
ool [ o)lo)o)o)
olelell 0@
QO® Q®
QOO@ o)lo)o)o)
O® 0@
@O® O®
@D 0)o)o)e)
@O®® 0 ®

| O®® 0 ®

Acceptable ways to grid % are:

2(/\3 .|6|6|6 .16|6|7
@ DD
OO @OOO @ OO
@O OO OO
OO OO0
& e ©le)ee) 06 ale)
©lae]l OB OBIBO®
OOO® OOO® OOO®
OBB® OBIB® OBIB®
®OO®O® ©O0ee e
QP2 DD DG

Answer: 201 - either position is correct
2101 2101
o o o o co(L)JTrE;y start your
answers in any column,
@ @) @O space permitt)i/ng.
OO0 @ o e Columns you don't
QOO @ DD  needto use should be
DI AN leftblank.
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y 3m+2p =24

m+p=10
20

If (my, p,) is the solution to the system of equations
15 £

above, what is the value of p, ?

X
Ol 1 2\3/4 56 78 9
> | \
.
The graph of the cubic function f is shown in the dx-5y=2

-pl bove. If =0, wh i tant,
xy-plane above. If £(a) where @ 1@ constan The graph of the equation above in the xy-plane is a

line. What is the x-coordinate of the x-intercept of
the line?

what is one possible value of a ?

5(x+a)+3(x*—a) =3x>+5x+4

In the equation above, a is a constant. If the equation 2 2
5 : X — 6 + - 3 = 25
is true for all values of x, what is the value of a ? : ( ) +(y-3)

The graph in the xy-plane of the equation above is a
circle. If the circle is translated downward a units
such that the circle is tangent to the x-axis, the
equation becomes (x — 6)% + (y — 3 + a)* = 25. What

is the value of a ?

STOP

If you finish before time is called, you may check your work on this section only.
Do not turn to any other section.
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Math Test - Calculator

55 MINUTES, 38 QUESTIONS

Turn to Section 4 of your answer sheet to answer the questions in this section.

DIRECTIONS

For questions 1-30, solve each problem, choose the best answer from the choices
provided, and fill in the corresponding bubble on your answer sheet. For questions 31-38,
solve the problem and enter your answer in the grid on the answer sheet. Please refer to
the directions before question 31 on how to enter your answers in the grid. You may use
any available space in your test booklet for scratch work.

1. The use of a calculator is permitted.

2. All variables and expressions used represent real numbers unless otherwise indicated.
3. Figures provided in this test are drawn to scale unless otherwise indicated.

4. All figures lie in a plane unless otherwise indicated.

5. Unless otherwise indicated, the domain of a given function f is the set of all real numbers x for
which f(x) is a real number.

REFERENCE

4 45N s\2
2 o s
w :h b c X 60 x N
| 30° 45°
b a x\/§ S
A=nr? A=Iw A= % bh 2 =a’+b? Special Right Triangles
C=2mr
h ‘v ‘ ‘
h e
w W
0 - 7
V={wh V=nr’h V=%m’3 V:%mzh V=%£wh

The number of degrees of arc in a circle is 360.
The number of radians of arc in a circle is 27.
The sum of the measures in degrees of the angles of a triangle is 180.
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—-3) = 1
5(x-3) =10x+5 Ify=x+ 5 and z = 2x — 3, which of the following is

What value of x satisfies the equation above?

A) -4 equivalentto y +yz ?
B 1
) A) 2x%—x—-1
C) 5
D) 15 B) 2x’-x-2
1
C) 22— x— =
2
3
D) 2x%-2x-=
2

1 km

An electric company charges Jerome

$0.05 per kilowatt-hour (kWh) of energy he uses in
his house. If Jerome was charged $36 by the electric
company, how many kilowatt-hours of energy did
Jerome use?

jav)
)

A)  0.0014
: B) 1.8
A student walks x kilometers (km) along a straight C) 180
path from point P to point Q. Then the student walks D) 720
y km along a straight path from point Q to point R. :

What is the total distance, x + y, in km, that the

student walks?

A) 2.0

B) 35

C) 55

D) 8.0

April QAS 4/9/19
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A scientist conducted an experiment and selected a

random sample of runners from a list of all high
school track participants from a certain city. The
scientist randomly assigned each runner to one of
two treatment groups, and the results of the

experiment were found to be statistically significant.
To which of the following populations can the results

of the experiment be safely generalized?

A) All high school athletes

B) All high school track participants from the city

C) All high school track participants from the
country

D) All runners

Which of the following equivalent forms of the

function f(x) = 4x? + 4x — 24 is the most suitable to

indicate the x-coordinates of the x-intercepts of the

graph of y = f(x) in the xy-plane?

A) f(x)=4(x*+x-6)
B) f(x) =4(x-2)(x+3)
f(x) =2(x-2)(2x+6)
f(x)=( —4)(2x +6)

Unauthorized copying or reuse of any part of this page is illegal.
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Raymond’s weekly income consists of a base salary
for a 40-hour workweek plus overtime pay. The
overtime pay is paid at an hourly rate for the time
that Raymond works in addition to his 40-hour
workweek. Raymond’s weekly income, in dollars, can
be represented by the expression 800 + 30x, where x
is the total number of hours Raymond works over

40 hours. Which of the following is the best
interpretation of the number 800 in this context?

A) Raymond’s base weekly salary, in dollars

B) Raymond’s total overtime pay for the workweek,
in dollars

C) The total number of hours in a year that
Raymond works in addition to his normal
40-hour workweeks

D) Raymond’s hourly wage, in dollars per hour, for
time worked in addition to his normal 40-hour
workweek

A city with 120,000 residents is voting on a proposal
that would eliminate overnight parking of vehicles
on the city’s streets. An independent company
randomly surveys 1,200 residents to see whether or
not residents would support this proposal. The
outcome of the survey shows that 60% of the
residents surveyed approve of the proposal with a
margin of error of 2%. Which of the following
statements is a plausible conclusion from the
outcome of the survey?

A) Exactly 60% of city residents approve
eliminating overnight parking.

B) There are 72,000 city residents who approve
eliminating overnight parking.

C) About 2% of the city residents do not approve
eliminating overnight parking.

D) Between 58% and 62% of the city residents
approve eliminating overnight parking.

April QAS 4/9/19
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On November 1st, there were 2,500 boxes in a
warehouse. On December Ist, there were 15% fewer
boxes in the warehouse than there were on
November 1st. On January 1st, there were 20% more
boxes in the warehouse than there were on
December 1st. How many boxes were in the
warehouse on January 1st?

A) 1,700
B) 2,125
C) 2,550
D) 2,625

Jonathan needs to earn at least $175 next week and
can work at most 20 hours. He earns $10 per hour at
his lawn service job and $8 per hour at his job at the
gym. Which of the following systems of inequalities
represents this situation in terms of the number of
hours he will work at his lawn service job, ¢, and the
number of hours he will work at his job at the gym, g,
next week?

A) 100+8g<175
l+g<20

B) 10/+8g<175
l+g220

C) 10£+8¢g=175
l+g<20

D) 10/ +8g>20
(+g>175

April QAS 4/9/19
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Future Value of an Investment after
20 Years for Different Interest Rates

$60,000

$50,000 :

.

$40,000 .

$30,000 '.,.'"ﬂd
$20,000 o

$10,000 — et

$0 oo |

0% 5%  10%  15%

Annual interest rate

Future value

20%

o= compounded daily
—— compounded annually

An initial investment of $1,000 is made at a constant
annual interest rate. The graphs above show the
corresponding future value v, in dollars, of the
investment for different annual interest rates, r, after
20 years. One graph shows the value when the
interest is compounded daily, and the other graph
shows the value when the interest is compounded
annually. Which of the following statements is true?

A) As rincreases at a constant rate, v increases
more rapidly if interest is compounded annually
rather than daily.

B) As r increases at a constant rate, v increases
more rapidly if interest is compounded daily
rather than annually.

C) As r increases at a constant rate, the difference
in interest compounded daily and interest
compounded annually increases at a
constant rate.

D) If r = 15% and interest is compounded annually,
a $1,000 investment will be worth $20,000 after
20 years.




14 = 4

v
Questions 12-14 refer to the following information. What is the value of ¢ in the equation that models
' this situation?

For gym class, Shayla completed a 4-mile walking and A 7
' 50
running exercise. She ran for 7¢ miles and she walked for 7
B) —
13 ) . . 20
3| — —t| miles, where ¢ is the total amount of time,
15 o 31
in hours, Shayla spent running. The equation 60
: 13
13 : -~
7t+3|— - t] = 4 models this situation. D) 15
15
Which of the following is the best interpretation of
the value 7 in the equation that models this situation?
A) Shayla walked at a speed of 7 miles per hour.

B) Shayla ran at a speed of 7 miles per hour.

What the total dist that Shayl t
C) Shayla walked for 7 minutes. at was the total distance that shayla spen

walking and running, in kilometers?

D) Shayla ran for 7 minutes. (Use 1 mile = 1.61 kilometers)
: A) 040
B) 4.00
C) 6.44
D) 10.53
A

April QAS 4/9/19
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Which of the following is a graph of a system of P = Py+pgh
equations with no solution?

The equation above gives the total pressure, P, on an
A) y

object submerged in a fluid, where P is the pressure
at the fluid’s surface, p is the density of the fluid, g is
the acceleration due to gravity, and h is the depth to

which the object is submerged. What is / in terms of
P, Py, p,and g?

A) ——

B)

B) y o P+h

D) P+Py+pg

If 4x> + bx+9 = 0, where b is a constant, has exactly
one solution, what is a possible value of b ?
: A) 72
x B) 36
: Q) 12
D) 6

D) y

April QAS 4/9/19
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Female Male Total
Blue eyes 2 4 6
Brown eyes 8 6 14
Green eyes 1 5 6
Total 11 15 26

Sierra recorded the gender and eye color of all the
students in her biology class. The results are shown
in the table above. If a male student is selected at
random from Sierra’s biology class, what is the
probability that he will have brown eyes?

2
A_
)3
2
B_
)5
3
C_
)7
3
D) —
13

Kelly enlarged the area of a photograph to 250% of
its original size. The original dimensions of the
photograph were 5 inches by 7 inches. What is the
area of the enlarged photograph, in square inches?
A) 7125

B) 87.5

C) 21875

D) 3,000

Unauthorized copying or reuse of any part of this page is illegal. 47
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Jx=-3=3-x

If x is the solution to the equation above, what is the

value of Vx—-3 ?

A) 1

3
» 2
C) V3

D) 3

April QAS 4/9/19
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In the figure above, X is a mark on the side of a tire of a car at rest. The
car, starting from rest, will experience an acceleration for some period
of time. Which of the following graphs could represent the distance
between the mark X and the ground after the car starts to accelerate
and the tire makes its first few revolutions?

A) B)

Distance
Distance

Time Time

) D)

Distance
Distance

Time Time

April QAS 4/9/19
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The graph of the function f is shown in the xy-plane

above. The function f is defined by the equation
a
flx) = Ex + ¢ for positive constants a, b, and ¢,
a
where E is a fraction in lowest terms. Which of the

following orders a, b, and ¢ from least to greatest?

A) a<b<c
B) a<c<b
C) b<c<a
D) c<a<b

Unauthorized copying or reuse of any part of this page is illegal.
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In the figure above, AACD is a right triangle and BE
is parallel to CD. What is the perimeter of AACD to

the nearest tenth of a unit?

A) 29.7
B) 36.0
C) 415
D) 50.9

In the xy-plane, the graph of a linear equation of the
form y = mx + b and the graph of an exponential
equation of the form y = ab® both contain points
(1,3) and (2,4). If the point (r,s) is on the graph of
the linear equation and the point (r,¢) is on the
graph of the exponential equation, where 0 < r < 4
and s > t, which of the following must be true?

A) 0<r<1
B) 1<r<2
C) 2<r<3
D) 3<r<4

April QAS 4/9/19
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Two independent surveys asked random samples of
500 people about the distances they commute to
work each day. The results of the surveys are detailed

in the table below.
Daily Commuting Distance
Mean Star.ldai\rd
Survey (miles) deviation
(miles)
A 13.9 1.5
B 15.1 1.5

Which statement is true based on the results of these

surveys?

A) There is a greater variation in the distribution
of the distances people commute to work in

Survey A.

B) There is a greater variation in the distribution
of the distances people commute to work in

Survey B.

C) The variation in the distribution of the distances
people commute is the same in both surveys.

D) Itisimpossible to determine the variation in the
distribution of the distances people commute

because the means are different.

April QAS 4/9/19
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During an ice age, the average annual global
temperature was at least 4 degrees Celsius lower than
the modern average. If the average annual
temperature of an ice age is y degrees Celsius and the
modern average annual temperature is x degrees
Celsius, which of the following must be true?

A) y=x-4
B) y<x+4
C) yzx-4
D) y<x-4
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y Maximum Speed versus Maximum Height
_m of 12 Roller Coasters

v 130

‘ 120 >

/ ~
) A < 110 =
L~ £ 100
T 90 3
LA 5 L~
A & 80 -
L~ 70 1
P ol 1 R 60
= 140 180 220 260 300 340 380 420
: Height (ft)

The scatterplot above shows the maximum height b,
in feet (ft), and maximum speed s, in miles per hour
(mph), of 12 roller coasters as well as the line of best
fit for the data. Of the following, which best
represents an equation for the line of best fit?

In the xy-plane above, line m is perpendicular to
line ¢ (not shown). Which of the following could be
an equation of line ¢ ?

A) 5x+3y+3=0 A) s=021h+32
B) 5x-3y+3=0 :
C) 3x-5y+15=0
D) 3x+5y—-15=0

B) s=0.43h+32
C) s=021h+62
D) s=0.43h+62

April QAS 4/9/19
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Selena created a scale model of an airplane

where 1 centimeter on the model equals 6 meters
on the airplane. The wingspan of the model is

10.7 centimeters. Selena wants to make a new
model where a scale of 1 centimeter on the model
equals 3 meters on the airplane. Which of the
following best describes how the wingspan of the
new model will compare to the wingspan of the first
model?

A) The wingspan of the new model will be

3 centimeters shorter than the first model.

B) The wingspan of the new model will be

3 centimeters longer than the first model.

1
C) The wingspan of the new model will be 53

long as the wingspan of the first model.
D)

The wingspan of the new model will be 2 times

as long as the wingspan of the first model.

April QAS 4/9/19
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Hongbo sold x cell phones in 2013. The number of
cell phones he sold in 2014 was 128% greater than in
2013, and the number of cell phones he sold in 2015
was 29% greater than in 2014. Which of the following
expressions represents the number of cell phones
Hongbo sold in 20152

A) (0.29)(1.28x)
B) (0.29)(2.28x)
C) (1.29)(1.28x)
D) (1.29)(2.28x)
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DIRECTIONS

For questions 31-38, solve the problem and Answer: 7 Answer: 2.5
enter your answer in the grid, as described "12 s
below, on the answer sheet. ansv‘\/’g?fﬁ — =l /1112 2 5
boxes. (@) Fraction D @
1. Although not required, it is suggested that olojlo)o) line oOlol@l® . Decimal
you write your answer in the boxes at the top [0)[0)]O) [0)[0)]O) point
of the columns to help you fill in the bubbles OO@D OO
accurately. You will receive credit only if the e ) " ole)
bubbles are filled in correctly. Gridin _| OO OO
2. Mark no more than one bubble in any column.  result. @ DO® O OL®®
3. No question has a negative answer. G e
4. Some problems may have more than one ®B®O®O® OOG®®
correct answer. In such cases, grid only one
answetr. | @O olo)o)e)
5. Mixed numbers such as 3% must be gridded
as 3.50r7/2. (|f |‘3\é}%‘ is entered into the Acceptable ways to grid % are:
grid, it will be interpreted as 351 not 3%.) 21113 . 6l6|6 ele|7
6. Decimal answers: If you obtain a decimal Q@ D
answer with more digits than the grid can © % % % [ % % 8 [ _J % % %
accommodate, it may be either rounded or
truncated, but it mus)fcﬁllthe entire grid. DODD DDDD
' @ @)@ QO
(] O® OBO®
OO®O® OOO® OOO®
OBB® OB 0666
®OB®B® ©O00ee Oee
QDD  DDDD  DDD®

Answer: 201 - either position is correct

2|01 201
NOTE:
o g g o o 8 g o You may start your
o)l J©] @D meremiing
@loof | DOO@D columns you don't
O ale) @ DO D|@  needto use should be
DD M leftblank.
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Anna was 99 centimeters tall the day she turned

4

Monthly Enrollments in Art Classes

3 years old, and she was 106.5 centimeters tall the day
she turned 4 years old. If Anna’s height increases by

the same amount each year between the ages of 2 and

8, how many centimeters tall will she be the day she

Community
center Jan | Feb | Mar | Apr | May | Jun | Jul
A 124|111 98| 82| 77 (152|133
B 465|407 | 391 | 354 | 365 | 511|495

turns 7 years old?

Cars Registered in Town X

The table above shows monthly enrollments in art
classes at two community centers for 7 consecutive
months. Based on the table, by how much does the
median monthly enrollment in community center B
exceed the median monthly enrollment in
community center A for the 7 months?

Percent of
Car color .
registered cars
Black 13% 5
Blue 7%
Gray 7%
Silver 28% B
White 32%
Other 13% 10
The table above shows the distribution of color for A o C

the 4000 cars registered in Town X. Based on the
table, how many more white cars than black cars are
registered in Town X?

2
In the right triangle above, sin 6 = E If AC = Jn,

what is the value of n ?

3x+2y =16
Y

6x+2y =28

If the system of equations above has solution (x, y),
what is the value of x + y ?

April QAS 4/9/19
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In the xy-plane, the graph of y = x*+ bx + ¢, where b
and ¢ are constants, has x-intercepts at x = -2 and
x = —6. What is the value of b ?
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Questions 37 and 38 refer to the following information.

A contractor purchased two slabs of granite, both in the shape of a right
rectangular prism. The table below shows some information about the

two slabs.
Length Width Thickness Mass
Slab 1| 100 centimeters | 20 centimeters | 8 centimeters | 44,000 grams
Slab 2| 125 centimeters 8 centimeters

What is the density, in grams per cubic centimeter, of
Slab1°?

Slab 2 has a ratio of length to width of 5 to 2. How
many centimeters wide is Slab 2 ?

STOP

If you finish before time is called, you may check your work on this section only.
Do not turn to any other section.
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Answer Key — Determine Raw Scores

Reading Test Answers

Correct Correct Correct Correct

Question # Answer Question # Answer Question # Answer Question # Answer
1 A 14 C 27 C 40 B
2 D 15 C 28 A 41 D
3 A 16 D 29 C 42 A
4 C 17 D 30 A 43 B
5 B 18 B 31 D 44 D
6 C 19 D 32 B 45 C
7 B 20 C 33 C 46 C
8 A 21 A 34 C 47 A
9 D 22 C 35 B 48 D
10 C 23 B 36 D 49 B
1 B 24 D 37 D 50 A
12 B 25 A 38 B 51 D
13 A 26 B 39 D 52 A

Reading Test Raw Score
(Number of Correct Answers)

Writing and Language Test Answers

Correct Correct Correct Correct

Question # Answer Question # Answer Question # Answer Question # Answer
1 B 12 B 23 C 34 C
2 C 13 A 24 B 35 B
3 D 14 D 25 B 36 A
4 C 15 D 26 A 37 D
5 A 16 B 27 A 38 A
6 D 17 D 28 C 39 A
7 B 18 C 29 D 40 B
8 C 19 C 30 A 41 D
9 D 20 B 31 B 42 B
10 B 21 D 32 D 43 C
11 C 22 D 33 A 44 C

Writing and Language Test
Raw Score “U" indicates a question that did not perform as expected and

(Number of Correct Answers) has been removed from scoring.

On test day you may have answered questions in a different
order than what you see above. Use the questions and
answers online to determine specific answers.

K-50SA08
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Answer Key — Determine Raw Scores (continued)

Math Test — No Calculator Answers

Correct Correct Correct Correct
Question # Answer Question # Answer Question # Answer Question # Answer
1 B 5 C 9 C 13 D
2 D 6 B 10 C 14
3 B 7 A 11 B 15 B
4 A 8 B 12 A
Question # Correct Answer
16 2,48
17 2
18 6
19 1/2,5
20 8

Math Test — No Calculator
Raw Score
(Number of Correct Answers)

Math Test — Calculator Answers

Correct Correct Correct Correct
Question # Answer Question # Answer Question # Answer Question # Answer
1 A 9 C 17 C 25 C
2 C 10 C 18 B 26 D
3 A 11 B 19 B 27 A
4 D 12 B 20 A 28 A
5 B 13 B 21 A 29 D
6 B 14 C 22 B 30 D
7 A 15 A 23 C
8 D 16 B 24 B
Question # Correct Answer
31 129
32 760
33 6
34 296
35 84
36 8
37 2.75,11/4
38 50

Math Test - Calculator
Raw Score “U” indicates a question that did not perform as expected and
(Number of Correct Answers) has been removed from scoring.

On test day you may have answered questions in a different
order than what you see above. Use the questions and
answers online to determine specific answers.

K-560SA08
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GET CROSS-TEST SCORES

The SAT also reports two cross-test scores: Analysis in History/Social
Studies and Analysis in Science.These scores are based on questions in
the Reading, Writing and Language, and Math Tests that ask you to think
analytically about texts and questions in these subject areas.

Cross-test scores are reported on a scale of 10—-40.

Calculating Your Cross-Test Scores

You can use the cross-test score tables beginning on the next page to
calculate your cross-test scores as follows:

. Find the questions in each section that count toward each cross-test score.
These are shown with a “Y"” next to the question number in the tables.
Refer to your QAS report to see which of those questions you answered
correctly on the test, and then check the box for each correct answer.

. Count the number of correct answers for each cross-test area and record
that as your raw score for that area.

. Use the conversion table on page 12 (if you took the paper test) or page 15
(if you took the digital test) to determine your scaled score (10-40) for
each area.
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Cross-Test Scores Tables — Determine Cross-Test Raw Scores

Y = Counts toward Cross-Test score. On your QAS report, look up every question marked “Y” below to see if you answered it correctly.
If so, check off the box for that question below.

Analysis in History/Social Studies (HSS) Analysis in Science (SCI)
Writing and Math Test - Math Test - Writing and Math Test - Math Test -

Reading Language Calculator No Calculator Reading Language Calculator No Calculator
1 1 y O 1 1 1 1 1
2 2 y 0O 2 2 2 2 2 2
3 3 y O 3 3 3 3 3 3
4 4 4 4 4 4 4 4
5 5 5 5 5 5 5 y O 5
6 6 6 6 6 6 6 6
7 7 y 0O 7 y O 7 7 7 7 7
8 8 8 y O 8 8 8 8 8 y O
9 9 y 0O 9 9 9 9 9 9
10 10 10 vy O] 10 10 10 10 10 |y O
11 y O] n y O | n Y O n 11 11 11 11
12 y O 12 12 12 12 12 12 12
13 y O 13 13 13y O 13 13 13 13
14 | y O] 14 14 14 14 14 14 14
15 y O s 15 15 15 15 15 15
16 y O 16 16 16 16 16 16 y O 16
17 0y O |7 17 17 17 17 17 17
18 y O 18 18 18 18 18 18 18
19 y O 19 19 19 19 19 19 19
20 Yy O 2 20 20 20 20 20 20
21 y O] 2 21 21 21 21 y O
22 22 22 2y Of 22 22
23 23 23 23 0y O 23 23
24 24 24 24 |y O | 24 24
25 25 25 Y O 25 Y O] 25 25
26 26 26 26 y O] 26 26 y 0O
27 27 27 27 |y O 27| vy O] 27
28 28 28 28 |y O 2| v O] 28
29 29 29 29 |y Ol29 | vy O]2 y O
30 30 30 | vy O 30 Yy O30 vy O30
31 31 31 31 y O] 3 y O | 3 y O
32 32 32 32 0y O 32 32
33 y O 33 33 33 33 y [O] 33
3 | Yy O 34 34 |y O 34 34 34
35 y O 35 35 35 35 35
36 | Y O] 36 36 36 36 36
37 y 0O 37 37 37 37 37
38 | vy [ 38 38 38 38 38
39 Yy O 39 39 39
40 y O a0 40 40
41 y O] & 41 41
42 y O 4 42 42
43 43 43 |y O | a3
44 44 44 |y O | 44
45 45 y O
46 46 | Y O
47 47 Y O
48 48 | Y O
49 49 Y O
50 50 |y O
51 51 y O
52 52 y 0O

HSS Raw Score SCI Raw Score

K-560SA08
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Subscores Tables — Determine Subscore Raw Scores

Y = Counts toward subscore. On your QAS report, look up every question marked “Y" to see if you answered it correctly.
If so, check off the box for that question.

Command of Evidence Expression of Ideas Words in Context Standard English Conventions
(COp) (EOI) (WIC) (SEC)
Writing and Writing and Writing and Writing and
Reading Language Reading Language Reading Language Reading Language
1 1 1 1 y O 1 1 y O 1 1
2 2 y O 2 2 y O 2 2 2 2
3 3 3 3 y O 3 y Of 3 3 3
4 4 4 4 4 4 4 4 y O
5 y O] s 5 5 5 5 5 5 y O
6 6 6 6 6 6 6 6 | vy O
7 7 |y O 7 7 y O 7 7 7 7
g8 |y O s 8 8 8 8 8 8 |y O
9 9 9 9 y O 9 9 y O 9 9
10 10 10 10 10 y Ofno 10 10| y O
1 1 1 1|y 0O 11 11 11 11
12 12 12 12 12 12 12 12 |y O
13 13y O 13 13|y O 13y Of13 13 13
14 14 14 14 | y O 14 |y O |4 14 14
15 15 15 15 15 15 15 15 | y O
16 16 | vy O 16 16 | vy O 16 16 16 16
17 |y O|]a7 17 17 17 17 17 17 |y O
18 18 18 18| vy O 18 18| v O 18 18
19 y O]9 19 19 | vy O 19 19 19 19
20 20 20 20 20 20 20 20 vy O
21 21 21 21 | vy O 21 21y O 21 21
22 22 22 22 22 22 22 2|y O
23 23 23 23 23 23 23 23|y 0O
24 24 24 24 24 24 24 24 |y O
25 25 25 25 25 25 25 25 | vy O
26 26 26 26 26 26 26 26 | Yy O
27 27 27 27 | vy O 27 27 | vy O 27 27
28 28 28 2 | vy O 28 vy O] 28 28 28
29 29 29 29 |y O 29 |y O]2 | vy O 29 29
30, vy OJ30 |y O 30 30| v O 30 30 30 30
31 31 |y O 31 31 |y O 31 31 31 31
32 | v 32 32 32 32 32 32 32 vy O
33 33 33 33 | vy O 33 33 33 33
34 34 |y O 34 34 |y O 34 34 34 34
35 35 35 35 35 | vy O35 35 35 | vy O
36 36 | vy O 36 36 | vy O 36 36 36 36
37 37 37 37 37 | vy O] 37 37 37 |y O
38 38 38 38 | v O 38 38 38 38
39 39 39 39 39 39 39 39 Yy O
40 40 40 40 40 40 40 4 | vy O
4 |y O] a; 41 4 |y O 41 4 |y O 41 4
42 42 42 42 |y 0O 42 4 | vy O 42 42
43 43 43 43 43 43 43 43 | y O
a4 | Yy [0 ] 24 44 44 |y O 44 44 44 44
45 45 45 45
46 46 46 | Yy O 46
47 |y O 47 47 47
48 |y O 48 48 48
49 49 49 | vy O 49
50 50 50 50
51 51 51 51
52 52 52 52
COE Raw Score EOI Raw Score WIC Raw Score SEC Raw Score

K-50SA08
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Subscores Tables — Determine Subscore Raw Scores (continued)

Y = Counts toward Subscore. On your QAS report, look up every question marked “Y"” to see if you answered it correctly.
If so, check off the box for that question.

Heart of Algebra Problem Solving and Passport to Advanced
(HOA) Data Analysis (PSD) Math (PAM)

Math Test — Math Test — Math Test — Math Test — Math Test — Math Test —

Calculator No Calculator Calculator No Calculator Calculator No Calculator
1 y O] y O 1 1 1 1
2 2 2 2 2 2 y O
3 3 y O 3 3 3 y OfF3
4 4 y O 4 y 0O a4 4 4
5 5 5 y O] s 5 5 y O
6 6 y O 6 6 6 y O] 6
7 y O] 7 7 7 7 7 y O
8 8 8 y O] 8 8 8 y O
9 9 y O 9 y 0O 9 9 9
10 y O7J10 10 10 10 10| vy O
11 11 11 11 11|y Ofn
12y O]12 12 12 12 12|y O
13y Of3 |y O 13 13 13 13
14 14 14 | vy O |14 14 14
15 | y O] 15 15 15 15 15| y O
16 16 16 16 16| vy Ol | vy O
17 17 17 17 17 |y Ol |y O
18 18 | vy O 18 vy O s 18 18
19 19 | vy O 19y Ofn9 19 19
20 20 20 20 20 Yy O] 20
21 21 | vy O 21
2 |y O 22 22
23 23 23
24 24 |y O 24
25 25 |y O 25
26 | vy O 26 26
27 |y O 27 27
28 2 | v O 28
29 29 |y O 29
30 30 | v O 30
31 |y O 31 31
32 32|y O 32
33 | vy O 33 33
34 34 | y O 34
35 35 35
36 36 36 | Y O
370 37 |y O 37
38 38| v O 38

HOA Raw Score PSD Raw Score PAM Raw Score

K-560SA08
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CONVERSION TABLES

Raw Score Conversion — Section and Test Scores (Paper Test)

Section and Test Scores
RAW SCORE CONVERSION TABLE 1

Raw Score Math Writing and Raw Score Math Writing and
(# of correct Section Reading Language (# of correct Section Reading Language
answers) Score Test Score Test Score answers) Score Test Score Test Score
0 200 10 10 30 530 26 26
1 200 10 10 31 530 26 27
2 210 10 10 32 540 27 28
3 220 10 11 33 550 27 28
4 240 11 11 34 550 28 29
5 250 12 12 35 560 28 29
6 260 13 13 36 570 29 30
7 280 13 14 37 580 29 31
8 290 14 15 38 590 30 31
9 300 15 15 39 590 30 32
10 310 15 16 40 600 31 33
11 330 16 16 4 610 31 34
12 340 17 17 42 620 32 36
13 350 17 17 43 630 32 38
14 360 18 18 44 640 33 40
15 370 18 18 45 650 34
16 390 19 19 46 660 34
17 400 19 19 47 670 35
18 410 19 20 48 680 36
19 420 20 20 49 690 37
20 430 20 21 50 700 38
21 450 21 21 51 710 39
22 460 21 22 52 720 40
23 470 22 22 53 740
24 480 23 23 54 750
25 490 23 23 55 770
26 500 24 24 56 780
27 510 24 24 57 790
28 510 25 25 58 800
29 520 25 26

Section and Test Scores

CONVERSION EQUATION 1
CONVERT
-
READING TEST READING TEST
RAW SCORE SCORE
(0-52) (10-40)
CONVERT - -
WRITING AND WRITING AND READING TEST READING AND EVIDENCE-BASED
LANGUAGE TEST LANGUAGE SCORE WRITING READING AND WRITING
RAW SCORE TEST SCORE (10-40) TEST SCORE SECTION SCORE
(0-44) (10-40) (20-80) (200-800)
CONVERT l
+ = + =
—’
MATH TEST - MATH TEST - MATH SECTION MATH SECTION EVIDENCE-BASED TOTAL SAT
NO CALCULATOR CALCULATOR RAW SCORE SCORE READING AND WRITING SCORE
RAW SCORE RAW SCORE (0-58) (200-800) SECTION SCORE (400-1600)
(0-20) (0-38) (200-800)

K-560SA08
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Raw Score Conversion — Cross-Test Scores (Paper Test)

Cross-Test Scores
RAW SCORE CONVERSION | TABLE 2

Analysis in Analysis in
Raw Score History/Social Analysis in Raw Score History/Social Analysis in
(# of correct Studies Science (# of correct Studies Science
answvers) Cross-Test Score Cross-Test Score answers) Cross-Test Score Cross-Test Score
0 10 10 18 2 -
1 10 10 19 25 e
: ! 1 20 26 26
3 12 12 21 2% 57
4 13 13 2 27 28
5 14 14 23 28 28
6 15 15 24 28 29
7 16 16 25 29 %
8 17 17 26 30 3
9 18 18 27 31 3
10 19 18 28 3 b
11 19 19 29 i i
12 20 20 30 i b=
13 21 21 31 3 u
14 22 22 32 36 b
15 22 22 33 37 b
16 23 23 34 39 b
17 24 24 35 20 0

Cross-Test Scores

CONVERSION EQUATION 2
CONVERT CONVERT
> >
ANALYSIS IN HISTORY/ ANALYSIS IN HISTORY/ ANALYSIS IN SCIENCE ANALYSIS IN SCIENCE
SOCIAL STUDIES SOCIAL STUDIES RAW SCORE SUBSCORE
RAW SCORE SUBSCORE 0-35) (10-40)
(0-35) (10-40)

12 K-560SA08
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Raw Score Conversion — Subscores (Paper Test)

Subscores
RAW SCORE CONVERSION TABLE 3

Raw Score Standard Problem Passport to
(# of correct Expression of English Heart of Solving and Advanced Words in Command of
answers) Ideas Conventions Algebra Data Analysis Math Context Evidence
0 1 1 1 1 1 1 1
1 1 1 1 1 2 1 2
2 2 1 2 1 3 1 3
3 2 2 3 3 5 1 4
4 3 2 4 4 6 2 4
5 4 3 4 5 7 3 5
6 4 4 5 7 7 3 6
7 4 4 6 8 8 4 6
8 5 5 6 9 9 5 7
9 5 5 7 9 9 5 7
10 6 6 8 10 10 6 8
11 6 6 8 11 11 7 8
12 7 7 9 12 11 8 9
13 7 8 9 12 12 9 10
14 8 9 10 13 13 10 11
15 8 9 10 14 14 11 11
16 9 10 11 15 15 12 12
17 9 11 12 15 13 14
18 10 12 13 15 15
19 10 13 15
20 11 15
21 12
22 12
23 13
24 15
Subscores
CONVERT CONVERT CONVERT
- - -
COMMAND OF COMMAND OF WORDS IN WORDS IN EXPRESSION OF IDEAS EXPRESSION OF IDEAS
EVIDENCE EVIDENCE CONTEXT CONTEXT RAW SCORE SUBSCORE
RAW SCORE SUBSCORE RAW SCORE SUBSCORE (0-24) (1-15)
(0-18) (1-15) (0-18) (1-15)
CONVERT CONVERT CONVERT
- - -
STANDARD ENGLISH STANDARD ENGLISH HEART OF ALGEBRA HEART OF ALGEBRA PROBLEM SOLVING PROBLEM SOLVING
CONVENTIONS CONVENTIONS RAW SCORE SUBSCORE AND DATA ANALYSIS AND DATA ANALYSIS
RAW SCORE SUBSCORE (0-19) (1-15) RAW SCORE SUBSCORE
(0-20) (1-15) (0-17) (1-15)
CONVERT
_’
PASSPORT TO PASSPORT TO
ADVANCED MATH ADVANCED MATH
RAW SCORE SUBSCORE
(0-16) (1-15)
K-50SA08
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Raw Score Conversion — Section and Test Scores (Digital Test)

Section and Test Scores
RAW SCORE CONVERSION TABLE 1

Raw Score Math Writing and Raw Score Math Writing and
(# of correct Section Reading Language (# of correct Section Reading Language
answers) Score Test Score Test Score answers) Score Test Score Test Score
0 200 10 10 30 530 25 26
1 200 10 10 31 530 25 27
2 210 10 10 32 540 26 28
3 220 10 11 33 550 26 28
4 240 11 11 34 550 27 29
5 250 12 12 35 560 27 29
6 260 13 13 36 570 28 30
7 280 14 14 37 580 28 31
8 290 15 15 38 590 29 31
9 300 15 15 39 590 30 32
10 310 16 16 40 600 30 33
11 330 16 16 41 610 31 34
12 340 17 17 42 620 31 36
13 350 17 17 43 630 32 38
14 360 17 18 44 640 32 40
15 370 18 18 45 650 33
16 390 18 19 46 660 34
17 400 18 19 47 670 35
18 410 19 20 48 680 36
19 420 19 20 49 690 37
20 430 20 21 50 700 37
21 450 20 21 51 710 39
22 460 20 22 52 720 40
23 470 21 22 53 740
24 480 22 23 54 750
25 490 22 23 55 770
26 500 23 24 56 780
27 510 23 24 57 790
28 510 24 25 58 800
29 520 24 26

Section and Test Scores

CONVERSION EQUATION 1
CONVERT
—'
READING TEST READING TEST
RAW SCORE SCORE
(0-52) (10-40)
CONVERT - -
- + = x10=
WRITING AND WRITING AND READING TEST READING AND EVIDENCE-BASED
LANGUAGE TEST LANGUAGE SCORE WRITING READING AND WRITING
RAW SCORE TEST SCORE (10-40) TEST SCORE SECTION SCORE
(0-44) (10-40) (20-80) (200-800)
CONVERT l
+ = + =
—’
MATH TEST - MATH TEST - MATH SECTION MATH SECTION EVIDENCE-BASED TOTAL SAT
NO CALCULATOR CALCULATOR RAW SCORE SCORE READING AND WRITING SCORE
RAW SCORE RAW SCORE (0-58) (200-800) SECTION SCORE (400-1600)
(0-20) (0-38) (200-800)
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Raw Score Conversion — Cross-Test Scores (Digital Test)

Cross-Test Scores
RAW SCORE CONVERSION | TABLE 2

Raw Score Standard Problem Passport to
(# of correct Expression of English Heart of Solving and Advanced Words in Command of
answers) Ideas Conventions Algebra Data Analysis Math Context Evidence

0 1 1 1 1 1 1 1
1 1 1 1 1 2 1 2
2 2 1 2 1 3 1 3
3 2 2 3 3 5 1 4
4 3 2 4 4 6 2 4
5 4 3 4 5 7 3 5
6 4 4 5 7 7 3 5
7 4 4 6 8 8 4 6
8 5 5 6 9 9 5 6
9 5 5 7 9 9 5 7
10 6 6 8 10 10 6 7
11 6 6 8 11 11 7 8
12 7 7 9 12 11 8 9
13 7 8 9 12 12 9 9
14 8 9 10 13 13 10 10
15 8 9 10 14 14 11 11
16 9 10 11 15 15 12 12
17 9 11 12 15 13 13
18 10 12 13 15 15
19 10 13 15

20 11 15

21 12

22 12

23 13

24 15

Cross-Test Scores

CONVERSION EQUATION 2
CONVERT CONVERT
- -
ANALYSIS IN HISTORY/ ANALYSIS IN HISTORY/ ANALYSIS IN SCIENCE ANALYSIS IN SCIENCE
SOCIAL STUDIES SOCIAL STUDIES RAW SCORE SUBSCORE
RAW SCORE SUBSCORE (0-35) (10-40)
(0-35) (10-40)

KX0S330
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Raw Score Conversion — Subscores (Digital Test)

Subscores

RAW SCORE CONVERSION TABLE 3

Analysis in Analysis in
Raw Score History/Social Analysis in Raw Score History/Social Analysis in
(# of correct Studies Science (# of correct Studies Science
answers) Cross-Test Score Cross-Test Score answers) Cross-Test Score Cross-Test Score
0 10 10 18 23 24
1 11 11 19 24 25
2 12 12 20 25 26
3 12 13 21 26 26
4 13 14 22 26 27
5 14 15 23 27 28
6 15 16 24 28 29
7 16 16 25 29 29
8 17 17 26 29 30
9 17 17 27 30 31
10 18 18 28 31 32
11 19 19 29 32 32
12 19 19 30 33 33
13 20 20 31 34 34
14 21 21 32 35 34
15 21 22 33 37 36
16 22 23 34 38 37
17 23 23 35 40 40
Subscores
CONVERT CONVERT CONVERT
- - g
COMMAND OF COMMAND OF WORDS IN WORDS IN EXPRESSION OF IDEAS EXPRESSION OF IDEAS
EVIDENCE EVIDENCE CONTEXT CONTEXT RAW SCORE SUBSCORE
RAW SCORE SUBSCORE RAW SCORE SUBSCORE (0-24) (1-15)
(0-18) (1-15) (0-18) (1-15)
CONVERT CONVERT CONVERT
- - g
STANDARD ENGLISH STANDARD ENGLISH HEART OF ALGEBRA HEART OF ALGEBRA PROBLEM SOLVING PROBLEM SOLVING
CONVENTIONS CONVENTIONS RAW SCORE SUBSCORE AND DATA ANALYSIS AND DATA ANALYSIS
RAW SCORE SUBSCORE (0-19) (1-15) RAW SCORE SUBSCORE
(0-20) (1-15) (0-17) (1-15)
CONVERT
_’
PASSPORT TO PASSPORT TO
ADVANCED MATH ADVANCED MATH
RAW SCORE SUBSCORE

(0-16) (1-15)
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	About College Board 
	Scoring Your SAT 
	SCORES OVERVIEW
	The SAT provides more information about your learning by reporting more scores than ever before. Each of the SAT Suite of Assessments (SAT, PSAT/NMSQT, PSAT™ 10, and PSAT™ 8/9) reports test scores and cross-test scores on a common scale. Additionally, subscores provide more diagnostic information. For more details about scores, visit sat.org.
	 
	 
	®
	/scores

	HOW TO CALCULATE YOUR TEST SCORES
	Get Set Up
	1. 
	1. 
	1. 
	1. 

	You’ll need the customized QAS report with your answers. You’ll also need the answer key (pages 4–5) and conversion tables (pages 11–16) provided in this section.

	2. 
	2. 
	2. 

	Using the answer key, count up your total correct answers for each section. You may want to write the number of correct answers for each section at the bottom of that section in the answer key.

	3. 
	3. 
	3. 

	Using your marked-up answer key and the conversion tables, follow the directions on the next few pages to get all of your scores.


	GET SECTION AND TOTAL SCORES
	Your total score on the SAT is the sum of your Evidence-Based Reading and Writing section score and your Math section score. To get your total score, you will convert your raw score for each section—the number of questions you got right in that section—into the scaled score for that section, then calculate the total score.
	Calculating Your Evidence-Based Reading and Writing Section Score
	Calculate your SAT Evidence-Based Reading and Writing Section score (it’s on a scale of 200–800) by first determining your Reading Test score and your Writing and Language Test score. Here’s how:
	1. 
	1. 
	1. 
	1. 

	Use the Answer Key to determine your raw scores (the number of correct answers).

	2. 
	2. 
	2. 

	Go to Raw Score Conversion Table 1: Section and Test Scores on page 11 (if you took the paper test) or page 14 (if you took the digital test). Look in the “Raw Score” column for your raw score, and match it to the number in the “Reading Test Score” column. 
	 


	3. 
	3. 
	3. 

	Do the same with Section 2 to determine your Writing and Language Test score. 

	4. 
	4. 
	4. 

	Add your Reading Test score to your Writing and Language Test score. 

	5. 
	5. 
	5. 

	Multiply that number by 10. This is your Evidence-Based Reading and Writing Section score. 


	Calculating Your Math Section Score
	Calculate your SAT Math section score (it’s on a scale of 200–800), as follows: 
	1. 
	1. 
	1. 
	1. 

	Count the number of correct answers you got on the Math Test – No Calculator and the Math Test – Calculator.

	2. 
	2. 
	2. 

	Add the number of correct answers you got on each portion. 

	3. 
	3. 
	3. 

	As you did with your Reading and Writing and Language Test scores, go to the Raw Score Conversion Table 1: Section and Test Scores to turn your raw score into your Math section score. Find your raw score in the “Raw Score” column and match it to the number in the same row in the “Math Section Score” column.


	Calculating Your Total Score
	Add your Evidence-Based Reading and Writing section score to your Math section score. The result is your total score on the SAT, on a scale of 400–1600.
	 

	Answer Key – Determine Raw Scores
	Reading Test Answers
	Reading Test Raw Score
	(Number of Correct Answers)
	(Number of Correct Answers)

	Writing and Language Test Answers
	Answer Key – Determine Raw Scores (continued)
	Math Test – No Calculator Answers
	GET CROSS-TEST SCORES
	The SAT also reports two cross-test scores: Analysis in History/Social Studies and Analysis in Science. These scores are based on questions in the Reading, Writing and Language, and Math Tests that ask you to think analytically about texts and questions in these subject areas.
	Cross-test scores are reported on a scale of 10–40.
	Calculating Your Cross-Test Scores
	You can use the cross-test score tables beginning on the next page to calculate your cross-test scores as follows:
	1. 
	1. 
	1. 
	1. 

	Find the questions in each section that count toward each cross-test score. These are shown with a “Y” next to the question number in the tables. Refer to your QAS report to see which of those questions you answered correctly on the test, and then check the box for each correct answer. 

	2. 
	2. 
	2. 

	Count the number of correct answers for each cross-test area and record that as your raw score for that area. 

	3. 
	3. 
	3. 

	Use the conversion table on page 12 (if you took the paper test) or page 15 (if you took the digital test) to determine your scaled score (10–40) for each area.
	 



	Cross-Test Scores Tables – Determine Cross-Test Raw Scores
	Y = Counts toward Cross-Test score. On your QAS report, look up every question marked “Y” below to see if you answered it correctly. If so, check off the box for that question below.
	GET SUBSCORES 
	Subscores provide more detailed information about your strengths in specific areas within literacy and math.
	Subscores are reported on a scale of 1–15. 
	 
	 
	 
	 
	▶

	The Command of Evidence subscore is based on questions from both the Reading Test and the Writing and Language Test that ask you to interpret and use evidence found in a wide range of passages and informational graphics, such as graphs, tables, and charts.

	 
	 
	 
	▶

	The Expression of Ideas subscore is based on questions from the Writing and Language Test that focus on topic development, organization, and rhetorically effective use of language.

	 
	 
	 
	▶

	The Words in Context subscore is based on questions from both the Reading Test and the Writing and Language Test that address the meaning in context of words/phrases and rhetorical word choice.

	 
	 
	 
	▶

	The Standard English Conventions subscore is based on questions from the Writing and Language Test that focus on sentence structure, usage, and punctuation.

	 
	 
	 
	▶

	The Heart of Algebra subscore is based on questions from the Math Test that focus on linear equations and inequalities.

	 
	 
	 
	▶

	The Problem Solving and Data Analysis subscore is based on questions from the Math Test that focus on quantitative reasoning, the interpretation and synthesis of data, and solving problems in rich and varied contexts.

	 
	 
	 
	▶

	The Passport to Advanced Math subscore is based on questions from the Math Test that focus on topics central to the ability of students to progress to more advanced mathematics, such as understanding the structure of expressions, reasoning with more complex equations, and interpreting and building functions.


	Calculating Your Subscores
	You can use the subscore tables beginning on the next page to calculate your subscores as follows:
	1. 
	1. 
	1. 
	1. 

	Find the questions that count toward each subscore. These are shown with a “Y” next to the question number in the tables. Refer to your QAS report to see which of those questions you answered correctly on the test, and then check the box for each correct answer. 

	2. 
	2. 
	2. 

	Count the number of correct answers for each area and record that as your raw score for that area. 

	3. 
	3. 
	3. 

	Finally, use the conversion table on page 13 (if you took the paper test) or page 16 (if you took the digital test) to determine your scaled score (1–15) for each area.


	Subscores Tables – Determine Subscore Raw Scores
	Y = Counts toward subscore. On your QAS report, look up every question marked “Y” to see if you answered it correctly. If so, check off the box for that question.
	 


	Reading Test Answers 1(a-d)Question #CorrectAnswer1A2D3A4C5B6C7B8A9D10C11B12B13AQuestion #CorrectAnswer14C15C16D17D18B19D20C21A22C23B24D25A26BQuestion #CorrectAnswer27C28A29C30A31D32B33C34C35B36D37D38B39DQuestion #CorrectAnswer40B41D42A43B44D45C46C47A48D49B50A51D52AWriting and Language Answers 2(a-d)Question #CorrectAnswer1B2C3D4C5A6D7B8C9D10B11CQuestion #CorrectAnswer12B13A14D15D16B17D18C19C20B21D22DQuestion #CorrectAnswer23C24B25B26A27A28C29D30A31B32D33AQuestion #CorrectAnswer34C35B36A37D38A39A40B41D42B43
	Reading Test Answers 1(a-d)Question #CorrectAnswer1A2D3A4C5B6C7B8A9D10C11B12B13AQuestion #CorrectAnswer14C15C16D17D18B19D20C21A22C23B24D25A26BQuestion #CorrectAnswer27C28A29C30A31D32B33C34C35B36D37D38B39DQuestion #CorrectAnswer40B41D42A43B44D45C46C47A48D49B50A51D52AWriting and Language Answers 2(a-d)Question #CorrectAnswer1B2C3D4C5A6D7B8C9D10B11CQuestion #CorrectAnswer12B13A14D15D16B17D18C19C20B21D22DQuestion #CorrectAnswer23C24B25B26A27A28C29D30A31B32D33AQuestion #CorrectAnswer34C35B36A37D38A39A40B41D42B43
	Story
	Writing and Language Test Raw Score
	(Number of Correct Answers)
	(Number of Correct Answers)


	“
	“
	“
	U
	” indicates a question that did not perform as expected and 
	 
	has been removed from scoring. 


	On test day you may have answered questions in a different 
	On test day you may have answered questions in a different 
	On test day you may have answered questions in a different 
	order than what you see above. Use the questions and 
	answers online to determine specific answers.


	K-5OSA08
	K-5OSA08
	K-5OSA08


	Math Test – No Calculator Answers  Table 3Question #CorrectAnswer1B2D3B4AQuestion #CorrectAnswer5C6B7A8BQuestion #CorrectAnswer9C10C11B12AQuestion #CorrectAnswer13D14A15BQuestion #Correct Answer162,4,8172186191/2,.5208Math Test – Calculator Answers  Table 4 Question #CorrectAnswer1A2C3A4D5B6B7A8DQuestion #CorrectAnswer9C10C11B12B13B14C15A16BQuestion #CorrectAnswer17C18B19B20A21A22B23C24BQuestion #CorrectAnswer25C26D27A28A29D30DQuestion #Correct Answer3112932760336342963584368372.75,11/43850
	Story
	Math Test – No Calculator Raw Score
	(Number of Correct Answers)
	(Number of Correct Answers)


	Math Test – No Calculator Answers  Table 3Question #CorrectAnswer1B2D3B4AQuestion #CorrectAnswer5C6B7A8BQuestion #CorrectAnswer9C10C11B12AQuestion #CorrectAnswer13D14A15BQuestion #Correct Answer162,4,8172186191/2,.5208Math Test – Calculator Answers  Table 4 Question #CorrectAnswer1A2C3A4D5B6B7A8DQuestion #CorrectAnswer9C10C11B12B13B14C15A16BQuestion #CorrectAnswer17C18B19B20A21A22B23C24BQuestion #CorrectAnswer25C26D27A28A29D30DQuestion #Correct Answer3112932760336342963584368372.75,11/43850
	Math Test – Calculator Answers
	Math Test – Calculator Answers

	Story
	Math Test – Calculator 
	Math Test – Calculator 
	Raw Score

	(Number of Correct Answers)
	(Number of Correct Answers)


	“
	“
	“
	U
	” indicates a question that did not perform as expected and 
	 
	has been removed from scoring. 


	On test day you may have answered questions in a different 
	On test day you may have answered questions in a different 
	On test day you may have answered questions in a different 
	order than what you see above. Use the questions and 
	answers online to determine specific answers.


	K-5OSA08
	K-5OSA08
	K-5OSA08


	Table 5a and 5bAnalysis in History/Social Studies (HSS)Reading1 2 3 4 5 6 7 8 9 10 11Y12Y13Y14Y15Y16Y17Y18Y19Y20Y21Y22 23 24 25 26 27 28 29 30 31 32 33Y34Y35Y36Y37Y38Y39Y40Y41Y42Y43 44 45 46 47 48 49 50 51 52 Writing and Language1Y2Y3Y4 5 6 7Y8 9Y10 11Y12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42 43 44 Math Test -Calculator1 2 3 4 5 6 7Y8Y9 10Y11Y12 13 14 15 16 17 18 19 20 21 22 23 24 25Y26 27 28 29 30Y31 32 33 34Y35 36 37 38 Math Test - No Calculator1 2 3 4 5
	Story
	HSS Raw Score

	Story
	SCI Raw Score

	K-5OSA08
	K-5OSA08
	K-5OSA08


	Table 6 (a-d)Command of Evidence (COE)Reading1 2 3 4 5Y6 7 8Y9 10 11 12 13 14 15 16 17Y18 19Y20 21 22 23 24 25 26 27 28 29 30Y31 32Y33 34 35 36 37 38 39 40 41Y42 43 44Y45 46 47Y48Y49 50 51 52 Writing and Language1 2Y3 4 5 6 7Y8 9 10 11 12 13Y14 15 16Y17 18 19 20 21 22 23 24 25 26 27 28 29 30Y31Y32 33 34Y35 36Y37 38 39 40 41 42 43 44 Expression of Ideas (EOI)Reading1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42 43 44 45 46 47 48 49 50 51 5
	Story
	EOI Raw Score 

	Story
	WIC Raw Score 

	Story
	SEC Raw Score 

	Story
	COE Raw Score 

	K-5OSA08
	K-5OSA08
	K-5OSA08


	Subscores Tables – Determine Subscore Raw Scores (continued)
	Subscores Tables – Determine Subscore Raw Scores (continued)
	Y = Counts toward Subscore. On your QAS report, look up every question marked “Y” to see if you answered it correctly. If so, check off the box for that question.
	 


	Table 6(e-g)Heart of Algebra(HOA)Math Test –Calculator1Y2 3 4 5 6 7Y8 9 10Y11 12Y13Y14 15Y16 17 18 19 20 21 22Y23 24 25 26Y27Y28 29 30 31Y32 33Y34 35 36 37 38 Math Test –No Calculator1Y2 3Y4Y5 6Y7 8 9Y10 11 12 13Y14 15 16 17 18Y19Y20 Problem Solving andData Analysis (PSD)Math Test –Calculator1 2 3 4Y5Y6 7 8Y9Y10 11 12 13 14Y15 16 17 18Y19Y20 21Y22 23 24Y25Y26 27 28Y29Y30Y31 32Y33 34Y35 36 37Y38YMath Test –No Calculator1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 Passport to AdvancedMath (PAM)Math Test
	Story
	HOA Raw Score

	Story
	PAM Raw Score

	Story
	PSD Raw Score

	K-5OSA08
	K-5OSA08
	K-5OSA08


	CONVERSION TABLES
	CONVERSION TABLES
	Raw Score Conversion – Section and Test Scores (Paper Test)
	Section and Test Scores
	RAW SCORE CONVERSION TABLE 1

	Table 7 (a-b)Raw Score(# of correctanswers)MathSectionScoreReadingTest ScoreWriting andLanguageTest Score02001010120010102210101032201011424011115250121262601313728013148290141593001515103101516113301616123401717133501717143601818153701818163901919174001919184101920194202020204302021214502121224602122234702222244802323254902323265002424275102424285102525295202526Raw Score(# of correctanswers)MathSectionScoreReadingTest ScoreWriting andLanguageTest Score3053026263153026273254027283355027283455028293556028293
	Section and Test Scores
	Section and Test Scores
	CONVERSION EQUATION 1

	CONVERT
	CONVERT
	CONVERT

	
	


	READING TEST 
	READING TEST 
	READING TEST 
	SCORE

	(10-40)
	(10-40)


	READING TEST
	READING TEST
	READING TEST
	 
	RAW SCORE

	(0-52)
	(0-52)


	× 
	× 
	× 
	10
	 
	=


	+
	+
	+


	=
	=
	=


	CONVERT
	CONVERT
	CONVERT

	
	


	WRITING AND 
	WRITING AND 
	WRITING AND 
	LANGUAGE
	 
	TEST SCORE

	(10-40)
	(10-40)


	WRITING AND 
	WRITING AND 
	WRITING AND 
	LANGUAGE TEST 
	RAW SCORE

	(0-44)
	(0-44)


	READING TEST 
	READING TEST 
	READING TEST 
	SCORE

	(10-40)
	(10-40)


	READING AND
	READING AND
	READING AND
	 
	WRITING 
	 
	TEST SCORE

	(20-80)
	(20-80)


	EVIDENCE-BASED 
	EVIDENCE-BASED 
	EVIDENCE-BASED 
	READING AND WRITING 
	SECTION SCORE

	(200-800)
	(200-800)


	+
	+
	+


	=
	=
	=


	=
	=
	=


	+
	+
	+


	CONVERT
	CONVERT
	CONVERT

	
	


	EVIDENCE-BASED 
	EVIDENCE-BASED 
	EVIDENCE-BASED 
	READING AND WRITING 
	SECTION SCORE

	(200-800)
	(200-800)


	MATH TEST – 
	MATH TEST – 
	MATH TEST – 
	 
	NO CALCULATOR 
	RAW SCORE

	(0-20)
	(0-20)


	MATH SECTION 
	MATH SECTION 
	MATH SECTION 
	RAW SCORE

	(0-58)
	(0-58)


	TOTAL SAT
	TOTAL SAT
	TOTAL SAT
	 
	SCORE

	(400-1600)
	(400-1600)


	MATH SECTION 
	MATH SECTION 
	MATH SECTION 
	SCORE

	(200-800)
	(200-800)


	MATH TEST – 
	MATH TEST – 
	MATH TEST – 
	 
	CALCULATOR 
	 
	RAW SCORE

	(0-38)
	(0-38)


	K-5OSA08
	K-5OSA08
	K-5OSA08


	Table 9 (a-b) Raw Score(# of correctanswers)Analysis in History/SocialStudiesCross-Test Score Analysis in Science Cross-Test Score01010110102111131212413135141461515716168171791818101918111919122020132121142222152222162323172424 Raw Score(# of correctanswers)Analysis in History/SocialStudiesCross-Test Score Analysis in Science Cross-Test Score182425192525202626212627222728232828242829252930263031273131283232293333303433313534323635333736343938354040
	Cross-Test Scores
	Cross-Test Scores
	CONVERSION EQUATION 2

	CONVERT
	CONVERT
	CONVERT

	
	


	CONVERT
	CONVERT
	CONVERT

	
	


	ANALYSIS IN HISTORY/
	ANALYSIS IN HISTORY/
	ANALYSIS IN HISTORY/
	SOCIAL STUDIES 
	 
	SUBSCORE

	(10-40)
	(10-40)


	ANALYSIS IN SCIENCE 
	ANALYSIS IN SCIENCE 
	ANALYSIS IN SCIENCE 
	SUBSCORE

	(10-40)
	(10-40)


	ANALYSIS IN HISTORY/
	ANALYSIS IN HISTORY/
	ANALYSIS IN HISTORY/
	SOCIAL STUDIES 
	 
	RAW SCORE

	(0-35)
	(0-35)


	ANALYSIS IN SCIENCE 
	ANALYSIS IN SCIENCE 
	ANALYSIS IN SCIENCE 
	RAW SCORE

	(0-35)
	(0-35)


	K-5OSA08
	K-5OSA08
	K-5OSA08


	Table 8Raw Score(# of correctanswers)Expression ofIdeasStandardEnglishConventionsHeart ofAlgebraProblemSolving andData AnalysisPassport toAdvancedMathWords in ContextCommand ofEvidence0111111111111212221213133223351443244624543457356445773674468846855699579557995710668101068116681111781277912118913789121291014891013131011158910141411111691011151512121791112151314181012131515191013152011152112221223132415
	Raw Score Conversion – Subscores (Paper Test)
	Raw Score Conversion – Subscores (Paper Test)
	 

	Subscores
	RAW SCORE CONVERSION TABLE 3
	Raw Score Conversion – Cross-Test Scores (Paper Test)
	Cross-Test Scores
	RAW SCORE CONVERSION | TABLE 2

	Subscores
	Subscores
	CONVERSION EQUATION 3

	CONVERT
	CONVERT
	CONVERT

	
	


	CONVERT
	CONVERT
	CONVERT

	
	


	CONVERT
	CONVERT
	CONVERT

	
	


	EXPRESSION OF IDEAS 
	EXPRESSION OF IDEAS 
	EXPRESSION OF IDEAS 
	SUBSCORE

	(1-15)
	(1-15)


	COMMAND OF 
	COMMAND OF 
	COMMAND OF 
	EVIDENCE 
	 
	SUBSCORE

	(1-15)
	(1-15)


	WORDS IN 
	WORDS IN 
	WORDS IN 
	CONTEXT 
	SUBSCORE

	(1-15)
	(1-15)


	COMMAND OF 
	COMMAND OF 
	COMMAND OF 
	EVIDENCE 
	 
	RAW SCORE

	(0-18)
	(0-18)


	EXPRESSION OF IDEAS 
	EXPRESSION OF IDEAS 
	EXPRESSION OF IDEAS 
	RAW SCORE

	(0-24)
	(0-24)


	WORDS IN 
	WORDS IN 
	WORDS IN 
	CONTEXT 
	 
	RAW SCORE

	(0-18)
	(0-18)


	CONVERT
	CONVERT
	CONVERT

	
	


	CONVERT
	CONVERT
	CONVERT

	
	


	CONVERT
	CONVERT
	CONVERT

	
	


	STANDARD ENGLISH 
	STANDARD ENGLISH 
	STANDARD ENGLISH 
	CONVENTIONS 
	SUBSCORE

	(1-15)
	(1-15)


	HEART OF ALGEBRA 
	HEART OF ALGEBRA 
	HEART OF ALGEBRA 
	RAW SCORE

	(0-19)
	(0-19)


	STANDARD ENGLISH 
	STANDARD ENGLISH 
	STANDARD ENGLISH 
	CONVENTIONS 
	 
	RAW SCORE

	(0-20)
	(0-20)


	PROBLEM SOLVING 
	PROBLEM SOLVING 
	PROBLEM SOLVING 
	AND DATA ANALYSIS 
	RAW SCORE

	(0-17)
	(0-17)


	PROBLEM SOLVING 
	PROBLEM SOLVING 
	PROBLEM SOLVING 
	AND DATA ANALYSIS 
	SUBSCORE

	(1-15)
	(1-15)


	HEART OF ALGEBRA 
	HEART OF ALGEBRA 
	HEART OF ALGEBRA 
	SUBSCORE

	(1-15)
	(1-15)


	CONVERT
	CONVERT
	CONVERT

	
	


	PASSPORT TO 
	PASSPORT TO 
	PASSPORT TO 
	ADVANCED MATH 
	RAW SCORE

	(0-16)
	(0-16)


	PASSPORT TO 
	PASSPORT TO 
	PASSPORT TO 
	ADVANCED MATH 
	SUBSCORE

	(1-15)
	(1-15)


	K-5OSA08
	K-5OSA08
	K-5OSA08


	Raw Score Conversion – Section and Test Scores (Digital Test)
	Raw Score Conversion – Section and Test Scores (Digital Test)
	Section and Test Scores
	RAW SCORE CONVERSION TABLE 1

	Table 7 (a-b)Raw Score(# of correctanswers)MathSectionScoreReadingTest ScoreWriting andLanguageTest Score02001010120010102210101032201011424011115250121262601313728014148290151593001515103101616113301616123401717133501717143601718153701818163901819174001819184101920194201920204302021214502021224602022234702122244802223254902223265002324275102324285102425295202426Raw Score(# of correctanswers)MathSectionScoreReadingTest ScoreWriting andLanguageTest Score3053025263153025273254026283355026283455027293556027293
	Section and Test Scores
	Section and Test Scores
	CONVERSION EQUATION 1

	CONVERT
	CONVERT
	CONVERT

	
	


	READING TEST 
	READING TEST 
	READING TEST 
	SCORE

	(10-40)
	(10-40)


	READING TEST
	READING TEST
	READING TEST
	 
	RAW SCORE

	(0-52)
	(0-52)


	× 
	× 
	× 
	10
	 
	=


	+
	+
	+


	=
	=
	=


	CONVERT
	CONVERT
	CONVERT

	
	


	WRITING AND 
	WRITING AND 
	WRITING AND 
	LANGUAGE
	 
	TEST SCORE

	(10-40)
	(10-40)


	WRITING AND 
	WRITING AND 
	WRITING AND 
	LANGUAGE TEST 
	RAW SCORE

	(0-44)
	(0-44)


	READING TEST 
	READING TEST 
	READING TEST 
	SCORE

	(10-40)
	(10-40)


	READING AND
	READING AND
	READING AND
	 
	WRITING 
	 
	TEST SCORE

	(20-80)
	(20-80)


	EVIDENCE-BASED 
	EVIDENCE-BASED 
	EVIDENCE-BASED 
	READING AND WRITING 
	SECTION SCORE

	(200-800)
	(200-800)


	+
	+
	+


	=
	=
	=


	=
	=
	=


	+
	+
	+


	CONVERT
	CONVERT
	CONVERT

	
	


	EVIDENCE-BASED 
	EVIDENCE-BASED 
	EVIDENCE-BASED 
	READING AND WRITING 
	SECTION SCORE

	(200-800)
	(200-800)


	MATH TEST – 
	MATH TEST – 
	MATH TEST – 
	 
	NO CALCULATOR 
	RAW SCORE

	(0-20)
	(0-20)


	MATH SECTION 
	MATH SECTION 
	MATH SECTION 
	RAW SCORE

	(0-58)
	(0-58)


	TOTAL SAT
	TOTAL SAT
	TOTAL SAT
	 
	SCORE

	(400-1600)
	(400-1600)


	MATH SECTION 
	MATH SECTION 
	MATH SECTION 
	SCORE

	(200-800)
	(200-800)


	MATH TEST – 
	MATH TEST – 
	MATH TEST – 
	 
	CALCULATOR 
	 
	RAW SCORE

	(0-38)
	(0-38)


	KXOS330
	KXOS330
	KXOS330


	Table 8Raw Score(# of correctanswers)Expression ofIdeasStandardEnglishConventionsHeart ofAlgebraProblemSolving andData AnalysisPassport toAdvancedMathWords in ContextCommand ofEvidence011111111111121222121313322335144324462454345735644577357446884685569956955799571066810106711668111178127791211891378912129914891013131010158910141411111691011151512121791112151313181012131515191013152011152112221223132415
	Raw Score Conversion – Cross-Test Scores (Digital Test)
	Raw Score Conversion – Cross-Test Scores (Digital Test)
	Cross-Test Scores
	RAW SCORE CONVERSION | TABLE 2

	Cross-Test Scores
	Cross-Test Scores
	CONVERSION EQUATION 2

	CONVERT
	CONVERT
	CONVERT

	
	


	CONVERT
	CONVERT
	CONVERT

	
	


	ANALYSIS IN HISTORY/
	ANALYSIS IN HISTORY/
	ANALYSIS IN HISTORY/
	SOCIAL STUDIES 
	 
	SUBSCORE

	(10-40)
	(10-40)


	ANALYSIS IN SCIENCE 
	ANALYSIS IN SCIENCE 
	ANALYSIS IN SCIENCE 
	SUBSCORE

	(10-40)
	(10-40)


	ANALYSIS IN HISTORY/
	ANALYSIS IN HISTORY/
	ANALYSIS IN HISTORY/
	SOCIAL STUDIES 
	 
	RAW SCORE

	(0-35)
	(0-35)


	ANALYSIS IN SCIENCE 
	ANALYSIS IN SCIENCE 
	ANALYSIS IN SCIENCE 
	RAW SCORE

	(0-35)
	(0-35)
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	KXOS330
	KXOS330


	Table 9 (a-b) Raw Score(# of correctanswers)Analysis in History/SocialStudiesCross-Test Score Analysis in Science Cross-Test Score01010111112121231213413145141561516716168171791717101818111919121919132020142121152122162223172323 Raw Score(# of correctanswers)Analysis in History/SocialStudiesCross-Test Score Analysis in Science Cross-Test Score182324192425202526212626222627232728242829252929262930273031283132293232303333313434323534333736343837354040
	Raw Score Conversion – Subscores (Digital Test)
	Raw Score Conversion – Subscores (Digital Test)
	 

	Subscores
	RAW SCORE CONVERSION TABLE 3

	Subscores
	Subscores
	CONVERSION EQUATION 3

	CONVERT
	CONVERT
	CONVERT

	
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	CONVERT
	CONVERT
	CONVERT

	
	


	CONVERT
	CONVERT
	CONVERT

	
	


	EXPRESSION OF IDEAS 
	EXPRESSION OF IDEAS 
	EXPRESSION OF IDEAS 
	SUBSCORE

	(1-15)
	(1-15)


	COMMAND OF 
	COMMAND OF 
	COMMAND OF 
	EVIDENCE 
	 
	SUBSCORE

	(1-15)
	(1-15)


	WORDS IN 
	WORDS IN 
	WORDS IN 
	CONTEXT 
	SUBSCORE

	(1-15)
	(1-15)


	WORDS IN 
	WORDS IN 
	WORDS IN 
	CONTEXT 
	 
	RAW SCORE

	(0-18)
	(0-18)


	EXPRESSION OF IDEAS 
	EXPRESSION OF IDEAS 
	EXPRESSION OF IDEAS 
	RAW SCORE

	(0-24)
	(0-24)


	COMMAND OF 
	COMMAND OF 
	COMMAND OF 
	EVIDENCE 
	 
	RAW SCORE

	(0-18)
	(0-18)


	CONVERT
	CONVERT
	CONVERT

	
	


	CONVERT
	CONVERT
	CONVERT

	
	


	CONVERT
	CONVERT
	CONVERT

	
	


	HEART OF ALGEBRA 
	HEART OF ALGEBRA 
	HEART OF ALGEBRA 
	SUBSCORE

	(1-15)
	(1-15)


	STANDARD ENGLISH 
	STANDARD ENGLISH 
	STANDARD ENGLISH 
	CONVENTIONS 
	 
	RAW SCORE

	(0-20)
	(0-20)


	STANDARD ENGLISH 
	STANDARD ENGLISH 
	STANDARD ENGLISH 
	CONVENTIONS 
	SUBSCORE

	(1-15)
	(1-15)


	PROBLEM SOLVING 
	PROBLEM SOLVING 
	PROBLEM SOLVING 
	AND DATA ANALYSIS 
	SUBSCORE

	(1-15)
	(1-15)


	HEART OF ALGEBRA 
	HEART OF ALGEBRA 
	HEART OF ALGEBRA 
	RAW SCORE

	(0-19)
	(0-19)


	PROBLEM SOLVING 
	PROBLEM SOLVING 
	PROBLEM SOLVING 
	AND DATA ANALYSIS 
	RAW SCORE

	(0-17)
	(0-17)


	CONVERT
	CONVERT
	CONVERT

	
	


	PASSPORT TO 
	PASSPORT TO 
	PASSPORT TO 
	ADVANCED MATH 
	RAW SCORE

	(0-16)
	(0-16)


	PASSPORT TO 
	PASSPORT TO 
	PASSPORT TO 
	ADVANCED MATH 
	SUBSCORE

	(1-15)
	(1-15)









